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R4l 1 NTTaZazbs—avX(At—ib, £%2F 1 HEH 5,148 50| z.snl 0 0 0 0 0 0 0 2,514 0
Re.41) 2 INTTO 7+ (EHET BER) (2/1~2/28) 10,501 5o| 5, zssl 0 0 0 0 0 0 0 5, 255 0
Re.41] 3 |EHF BRHEE(2/24~3/23) 16.414 50| 8. 207 0 0 0 0 0 0 8. 207 0 q
R&.41| 4 |AAEDEESST (R 3~R4. 8)+F 80l 99, 110 mol g9, 1w| 0 99,110 0 0 0 0 0 0 ol
R4} & |FIERT (ML) (4 A 160, 000 sol 75. oool 0 0 0 0 0 0 75, 000 0 ol
R4.4.6] 6 |MEPTTLANATU—ZH(2/1~2/28) 39,116) 50 18, 558' 0 0 0 0 0 0 19,558 0 oi
R.46] 7 |[HE&EWH 2N (2/1~2/28) 1,650  s0] 825 0 0 0 0 0 0 0 825 q
Re.4.8] B |HVUR g103) 5 2, 025! 2,025 0 0 0 0 0 0 0 0
Ré.4. 11| 0 |BFRE (4 BFEKRS) 5,580 100I 5, 580] 5. 580/ 0 0 0 0 0 0 0 0
R4.4.15] 10 |&REHMREE BEHD 59.224 1oo| 59, 224 0 0 59, 224 0 0 0 0 0 0
Re.4.15] 11 |&RBEEREHE BEHO 9. 040 mol 8, 040] 0 0 9,040 0 0 0 0 0 |
RA.4.16) 12 |EEYv—F ) BEEM(IB~38) 8, 400 100| 8 400I 0 0 0 0 0 8. 400 0 0 o
R&.4.19| B |EEFTLNATU—2HKG/1~3/31) 43,307 5o| 21, 653' 0 0 0 0 0 0 21,653 0 o]
RA.4.99] 14 | FHUY AR 7.404 25| 1,851 1. 851 0 0 ] 0 0 o 0 oI
R4.4.25( 15 EHFRUTMU —RH., HE#Y—2IH UBAM 28,930 50' 14, 465 0 0 0 0 0 0 of 14465 oF
R4.4.28) 16 |FHAS MAR +HEAFEH 3.278) 50 1, sagl 0 0 0 0 0 0 0 1,639 0
R4 4.26] 17 |WAEEEH (HRFTEMD (4B4) 2,733 100 2, ml 0 0 0 0 0 2,733 0 0 ol
Rd.4.26] 18 |WTANERERM (BAXEFHM (4R 4, 000 1ool 4, uool 0 0 0 0 0 4,000 0 0 ul
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R&.4.27] 18 INTTazaz=Hh—2aX(A—, %2 UF ¢ AR 5,148] 50} 2,574 0 0 0 0 o U o 0 2,574 0|
R&4.27 20 INTTZ 74+ A (IR BIL (3/1~3/31) 10, 507 soi 5, 453 0 0 0 0 0 0 0 0 5.453 ol
Re.4.27] 21 |BEEEARF BEMEG/24~4/24) 16, 431 50| 8,215 0 0 0 0 0 0 0 8.215 0 0
R4.4.27| 22 A =2 FESEH O Ly YRTSY) 1,980 50| 900] 0 0 0 0 0 0 0 of - 900 0
Re.4.27| 23 |HFERT (ML) (B AL 150, 000 sol 75, 000] ¢ 0 0 0 0 0 0 75. 000 0 0
Ra.4.28] 24 |EUISEEHEEIRE AfH 84,630 sol 42,318 0 0 0 0 0 0 0 0 0 42,315
R4.4.28] 25 |E¥EEBHBIME A 150,000] 50 75. 000] 0 0 0 0 0 0 0 0 0 75, 000]
Re.4.28] 26 |H 1)L 7.183] 25 1,795 1,795 0 0 0 0 0 0 0 0 of
48N 928, 227 552, 481 11, 251 99, 110 0 68. 264 0 0 15,133] 207,633 33,775 117,315
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RA.4.26] 1 |NHKEGEREH (R4/4B~R5/3A4) 13,650f 50 6.825 0 0 0 0 0 ¢ 6, 825 ol

RE5. 2] 2 |HEFEIEMZ(IBH 7.863] 25 1, 965] 0 0 0 0 0 0 1,965 ol

R.5.6] 3 |HWEEH YL E—H(3/1~3/31) 2,042 50 1.021 0 0 0 ] 0 ] 1,021 of
RA5. 10| 4 |HYU i 7,786] 75 1,946 1,946 0 0 0 0 0 0 0
RA.6.16| 5 |HBEEmR (ML) (6 B4 150, 000 soJ 75, 000 0 0 0 0 0 75, 000 o of
R&E 1T & |EBRILANTY—ZH(4/1~4/30) 41,9101 50] 20,955 ] 0 0 0 0 20, 955 0 of
R4.5.10] 7 |BFFiRE (5 BHRS) 9,780 100] 9,780 9, 780 0 0 0 0 0 0 o
R&.5.10] 8 |EXIEEDICFEILEE 1.070] 100} 1,070] 1,070 0 0 0 0 0 0 o
R4.5.221 ¢ |HYUf 8.617| 25 2.120 2,129 0 0 0 0 0 0 ol
R4.5.25| 10 |FHIFUTMY —Z 4, a8 —=2H AL 28,930 50 14, 465 0 0 0 0 ¢ 0 14, 465 ) |
Re.5.28] 11 |HRFFAHR (@Y. MAK HEAFYY 11,088 sol 5, 544 0 0 0 0 ) 0 5, 544 oi
RA.5.26] 12 |EFEAREEEM (BR%EWA) (S5AS) 2.513 looF 2.513| 0 0 0 0 2,513 0 0 q
RA.5.26] 13 |FMEESEN (AXREHM) (589) 3,850 1oo| 3, ssuI 0 0 0 0 3,850 0 0 ol

NITaZazbh—2aX(A—ib. X2 VT FHB

R4.5.26| 14 ) (5 B43) 5.148] 50 2,574 0 0 ) 0 0 0 2,574 0
R&.5.261 15 [NTTZ 7+ 2R (BIEM ETEER) (4/1~4/30) 10,727 5o| 5, 363| 0 0 0 0 0 0 5,363 nl
R4.5.26| 16 |FBHAT TR (4/25~5/25) 14, 297 sol 7, 14s| 0 0 0 0 0 7,148 0 ul
R&5.21 12 |Af =3y FEEH (LY YRTSL) 1,980 sol 990| 0 ¢ ¢ 0 0 0 990 ol
R4.5.27| 18 |BiISERpiERNERR A3 81, 840 sol 40, gzol 0 0 0 0 0 0 0 40, 9zo|
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R4.5.31| 10 |HISEBMEIME AR 150.000] 50} 75.ooor 0 0 0 0 0 0 0 75, 000}
R4.5.31] 20 (HEWEEHE (4D 7.841 25 1,960 0 0 0 ¢ 0 0 1,960 o
RES.| 21 [Huy e 7.636] 25 1,909 1,600 0 0 0 0 0 0 ol
SHi 568, 468 282,927 16, 834 0 0 0 6.363]  103.103|  40.707| 115, szol
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RL.6.3] 1 |BHEFREEAMMAO—E (BF., F1—1vy) 4,406 25 1,101 ) 0 0 0 0 0 1,101 0

R&.6.6] 2 |FEHWAYL2—¥E/1~4/30) 7,888 5ui 3, 944} 0 0 0 0 0 0 3,044 of

R&.6.9| 3 |HVUYL R 8,129 25 2,032 2,032 0 0 0 0 0 0 ol
RA.C.10| 4 EEFkeE (6 BiFEKD) 9.300] 100 9. 3ool 9,300 0 0 0 0 0 0 ol
R4.6.16] 5 |EIEAT (HhR) (7 A4 150,000 50 5. oool 0 0 0 0 0 75,000 0 0
RL6. 17| 6 |BHERTLATU—RH(B/1~5/21) 43,307 soJ 21. 663 0 0 0 0 0 21,653 0 0
R4.6.18] 7 |HYU L 8.236] 25 2, 059] 2,059 0 0 0 0 0 0 |
R4.6.27] 8 [EHHUTM) —Z ¥, &I —2AH (6 A4) 28,930 50I 14, 465 0 0 0 0 0 0 14, 465 of

NITaSaz=4—23wX{(A—=, EF2UF 1 FHH

R.6.27] 9 ) (6 H4) 5,148 sol 2, 514| 0 0 0 0 ] 0 2.574 0|
RA.6.27) 10 NTTT 7« F2 A (EIEM TBEE) (B/1~5/31) 9,873 50 4, 936| 0 0 0 0 0 0 4,936 q
RL6.27] 11 | EEHEME (5/26~6/22) 14, s1sJ 50 7. 309' 0 0 0 0 0 7,309 0 ol
R.E.27| 12 [A2F—Fy MEEKH (DL UYNTFS) 1,980 50 990 0 0 0 ] 0 0 990 o'
R4.6.27| 18 |HRAREEEN (BEREW) (6 A% 3,007 1ool 3,007 0 0 0 0 3,007 0 0 0
R4.6.27| 14 |SHENEEREEM (BEEHFEM) (6 A4 4,300 mol 4, 300} 0 0 0 0 4,300 0 0 of
Re.6.20] 15 |HUH e 7.525 25| 1.881 1,881 0 0 0 0 0 0 DF
R4.6.30| 16 |a A2 kT4 F— (BEEEEH) R4 T/1~12/31B% 33,000 wol 33, oool 0 0 0 0 33, 000 0 0 ol
R4.6.30| 17 |BESEBHHBRE AT 92, 652 5o| 46, 326| 0 0 0 0 0 ] ¢ 48, 326I
R4.6.30| 18 |WFUEENGEIRER AG® 150,000 50 75, 000 0 0 0 0 0 0 0 75, oool
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R$.6.30] 19 HEWEZEHE(SAD 7.808| 25 1.952 0 0 0 0 0 0 o 0 1,952 oi
6AM 580, 107 310.829] 15272 0 0 0 0 0 40.307] 103, 962 29, 962 1z1.3zs|
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RL7.6| 1 |[iREHAHD L Z—H(5/1~5/31) 2,458 sol 1,229 0 0 0 0 0 0 0 1,228 0
RET1Y 2 | BT (7 BEEkD 7,440 mol 7. 440] 7. 440 0 0 0 0 0 0 0 o
RAT14| 3 [HWY 4 1.367 25 1.841 1.841 0 0 0 0 0 0 0 b |
RAT.A5| 4 |EHR (M) (BAD 150, 000] 50 75, 000] 0 0 0 0 0 0 75,000 0 |
R.7.15] 5 | AT - BHRE] BB (R4 6~R5.4) 4,766| 100 4, 766| 0 0 0 0 0 4,766 0 0 q
RATI5| 6 | TUAD) B4 (R4 6~R5.4) 3,483 100 3,483 0 0 0 0 0 3,483 0 0 ol
RLTI6] 7 |BEVy—FIL BEMAB~68) 8.400] 100] 8. 400 0 0 0 0 0 8. 400 0 0 ul
RA.7.190 8 |HEERRTLAT)—RL(6/1~6/30) 41,910 sol 20, 955 0 0 0 ] 0 ol 20,955 0 oL
RA.7.19| 9 |IBEEEEENEES R R4.7T~R4.12) 30,000 wol 30, 000} 0 30, 000 0 0 0 0 0 0 ol
R.7.25) 10 |HEHEHUMU—RH., HEY -2 (7A) 28,930 5o| 14, 465 0 0 0 0 0 0 0 14, 465 ol
RA.7.26] 11 |EAEIEREEM (RRSEERMD (78 2,645 IOOl 2,645 0 0 0 0 0 2, 645 0 0 o|
R4.7.26] 12 |WHEEEH (AREHFH) (7848 4,000 tool 4,000 0 0 0 0 0 4,000 0 0 ;l
RA.7.26] 13 |EEEIgAHE EEEO, 020:F) 69,972 95’ 67,173| 0 0 61,173 0 0 0 0 0 ol
R4 7.26| 14 JREBEH EXED 4, 033:8) 299,256| 98] 287,285 0 0 287, 285 0 0 0 0 0 ol
R12n 15 48—y MEER(TLYyYXTI) 1,980 50 9304 0 0 0 0 0 0 0 990|" ul
Re.7.28| 16 |HBHRASQ (T V% SA)L, AY/BARME +HRAEMNK 0,850  so| 5,425 0 0 0 0 0 0 0 5,425 o|
R4.7.28) 17 |SBHRER B%-HER 154,000] 96| 147840 0 o 147, 840 0 0 0 0 0 0
Re.7.28] 18 [RBEREH MR (20, 000%D) . FEAH 465.311] 96| 446,698 0 0 446, 698 0 0 0 0 0 0
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R4.7.20| 19 |BErfdd HEHC (700088 88. 000 gsl 24, 450] o 0 84, 480 0 0 0 0 0 o]
NTasazsr—vavX (A=, 525 1 RN,
Ra.7.290 20 [0 7 £ B 10,538 50 5,269 0 0 ] 0 0 0 0 5. 269 uI
Re.7.20) 21 INTTO 74 F 2R (FEHEA BEER) (6/1~6/30) 12, 680 sol 6. 340] 0 0 ) 0 0 0 0 6,340 oI
R4.7.20] 22 PEEER ERM&(6/23~7/25) 19, 642 sol 9,821 0 0 0 0 0 0 9,821 0 ol
R4.7.28] 23 [ERANEMARREEH (R4. 0~R5. 4) 7.000] 100 7. 000 0 0 0 0 0 7.000 0 0 ol
R4.7.29L 2 IRBERHMRE ALE 116,948] 50 53.474' 0 0 0 0 0 0 0 0 53.414'
Re.7.29| 25 |ECFBEENMBIEA Al 150,000 50 75, 000 0 0 0 0 0 0 0 0 75.oo—o|
184 1,607,577 1.376, 019] 9, 281 30. 000 1,033, 476 0 0 30.294] 105,776 33.718) 133, 474|
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i (39) mEmRR | WER wr | wmes |ERESE] pupaw | zoman | sear | smr | ane
Re.8.1f 1 |EHBEHE(6AM 7.865| 25 1. 966} 0 0 0 0 0 0 0 1,966 oi
R&.BI| 2 [Hvuik 7.910] 25 1.977 1.97 0 0 0 0 0 0 0 ul
RA.8.8| 3 |HEEHHYLH—¥(6/1~6/30) 1650 sof 825 0 0 0 0 0 0 0 825 ol
RLBIS] 4 |HUY 4 8.079) 25 2,019] 2,019 0 0 0 0 0 0 0 o|
Re.8.16| 5 |BEERILATU—ALKT1~1/31) 43,307 50 21.653i 0 0 0 0 0 0 21,653 0 )|
R4.8.16] & |M/MARAESEH (R4, 9~R5 2)+FHH 99,1100 100} 9, 1w| 0 99. 110 0 0 0 0 0 0 uI
R4.8.18] 7 |HBEAT (ML) (9 A 150,000 so] 7S oool 0 0 0 0 0 0 75, 000 0 ol
Re.8.23) 8 |HVLR 7.682] 25 1,920 1,820 0 0 0 0 0 0 0 ol
Re.8.24] 9 |EFES y—F U (REEHREE S 4 F£ER) 8. 800 mol 8. 800] 0 0 0 0 0 8,800 0 0 oI
R4.8.25| 10 |ZEFHMUTH) —2 %, HaWY—2 (8R4) 28,930 sol 14, 465 0 0 0 0 0 0 0 14, 465 o|
Rd.8.26] 11 |HRARAEEM (HFEFHME) (8AS) 2,910 wol 2,910 0 0 0 0 0 2,810 0 0 —ol
R4.8.26| 12 |WEARSEEHE (BEREFFH) (8B 4,150 wol 4, 150i 0 0 0 0 0 4, 150 0 0 ul
R4.8.20| 13 |1 Y8 —F v bEER(T Ly VRIS 1.980[ 50 990| 0 0 0 0 0 0 0 990 ‘ol
R4.8.29] 14 INTTaZa2=4—L 30X {(A—L. EFaUT 5 HEY 5148 5] 2 574I 0 0 0 0 0 0 0 2,574 0
R4.8.29| 16 INTTO 7+ (REEFR BEEK) (7/1~7/31) 11.484] 50  6.742 0 0 0 0 0 0 0 5.742 ol
Rd. 229 16 |hHAr ERME(7/26~8/24) 20.925| 50 10. 462 0 0 0 0 0 0 10, 462 0 ol
R4.8.30| 17 |EISTEMAGNNGE A 150, 000 5o| 75. 000 0 0 0 0 0 0 0 o 75000
R4.B.31| 13 |MIETEIHBIIE AFHR 96, 164 sol 48, 082 0 0 0 0 0 0 0 0 48, 082
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RA.8.31] 19 |HERBEMK(7AM 6.542| 25 1,635 0 0 0 0 0 0 0 0 1,635 0
sAM 662, 636 a19, 260 5,916 99,110 0 0 0 0 15,860]  107.115 28,197| 123,082
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RAO.6| 1 IHEWH D28 (/1~T7/31) 11,304 50 5, 697 0 0 0 0 0 0 5. 697 ol

RA.0.6| 2 |FH WU AR 8,320 25 2, ouol 2, 080 0 0 0 0 0 0 al
Ra.0.12) 3 |BFFiRE (S BiERS) 1.860] 100] 1, aeo! 1. 860 ] 0 o 0 0 0 ol
R.9.13] 4 [Hwu i 7.028] 25 1. 757 1,757 0 0 0 0 0 0 ol
R.917| 5 EEEEFT (MR (1 0R) 150.000| 50 75. 000 0 0 0 0 0 75, 000 0 —ol
R&.0.21[ 6 [EFEMTLATU—Z(8/1~8/31) 43.307 50' 21.653| 0 0 0 0 0 21, 653 0 —ol
R4.9.24] 7 |HUY L 7,554 25 1,aas| 1,888 0 0 0 0 0 0 ol
R4.9.26] 8 |EIHERRUTHY R, HEHY—24 (984 28.930] 50 14,465 0 0 0 0 0 0 14, 465 ol
RA.9.26] 9 |¥FEAEEERM (EEsE#RA) (9 A4 2,733] 100 2, 733I ! 0 0 0 2,733 0 ] ol
R4.9.26] 10 |WEESEH (AREFEFM (9AM 4,000 100 4, oool 0 0 0 0 4,000 0 ] ol
R4.9.27] N |BERARK((RTF4vH20Y., MEHRAS +HEAFNY 2,655  s50] 1,277 ] 0 0 0 0 0 1,277 o‘
R4.9.27] 12 |4 22—y MEREHE (DLyYRTIS ) 1,980  50f a90] 0 0 0 0 0 ] 990 0
R4.9.28) 13 WITaZazb—2goX(A—i, 520 F FEH) 5148 5o} 2,574 0 0 0 0 0 0 2,514 ol
R4.9.28| 14 WITZ 74 >R (EHERF EBIER) (8/1~8/31) 9,996  50) 4,998 0 0 0 0 0 0 4,998 uI
R4.9.28| 16 |WEET WAk E (8/25~0/26) 18.814) 50 9407 0 0 9 0 0 9. 407 0 |
R4.9.30| 16 |EHFEZBHBIME A 97.650f 50| 48,825 0 0 0 0 0 0 0 48,825
Ra.9.30| 17 |BUESEEIHHBMEER AYE 150,000 50 75, 000) 0 0 0 0 0 0 0 75. 000}
R4.9.30| 18 [EHEIEME(BHES) 9,462 25 2. 365 0 0 ¢ 0 0 0 2,365 o
SAK 680, 731 276, 569 7,585 0 0 0 6.733] 106,060 32,366| 123.825
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R&.10.3] 1 |Huye 8,517 28] 2,129 2,129 0 0 0 0 0 0 0
R4.10.6] 2 |HEAHAHTTS2—1(8/1~8/31) 6,779 sol 3, 3ssi 0 0 0 0 0 0 3.389 0
R4.10.12] 3 |HVUL# 7. 480 25I 1. a?uI 1,870 0 0 0 0 0 0 0
R&.10.14] 4 |RECY—F) BHHOTRA~9A8) 8, 400 100' 8. 400' 0 0 0 0 8, 400 0 0 0
R410.17) 5 |EBHERITLNATU—AKQ/1~9/30) 41,910 50} 20,955 0 0 0 0 0 20, 955 0 )
Re.10.19] 6 |HEERR (4R (11 BH) 150, 000 5o| 75, 000 ¢ 0 0 0 0 75. 000 0 0
RA10.21] 7 |HV Y 8. 051 25' 2.012 2,012 0 0 0 0 0 0 0
BHMUNY —2 8, HEHY—28 (1084

R4.10.25] 8 BT EENA ) — XK (2022, 0. 1 ~2023, 4 20) 35, 030 sol 17,515 0 0 0 0 0 0 17.515 0
R4.10.26| 9 |$FEAEEEENM (ZGREFM) (10AM4) 2,645 wol 2,645 0 0 0 o 2,645 0 0 0
R4.10.26] 10 [IFEEEH (OXEFHHEE) (10AD) 4,000 mol 4, ooof 0 0 0 0 4,000 0 0 0
R4.10.27] 11 |EHEARKMAR - HEE- SV F 77 4I) HEAFHE 7.183 5o| 3,591 ) 0 0 0 0 0 3,591 0
RE10.2T] 12 A 2=y FMEGH(DLyYRTS D) 1,980 5o| 990] 0 o 0 0 0 0 950 0
R4.10.27] 13 INTTaZ2az=4d—aX G —b. X UF 1 FEH 5.148 50| 2,574 0 0 0 0 0 0 2,574 0
RE10.27] 14 INTTZ 742 (B BEEMR) (9/1~9/30) 9,785 sol 4,892 0 0 0 0 0 0 4,892 0
R4 10.27] 15 |F&IEFT TWIE S (9/27~10/25) 14,823 50| 7.411 0 ] 0 0 0 7.411 0 0
R4.10.28{ 16 |EXFEEBHWBIFEE A(EH 112, 680 sol 56, 340I 0 0 0 0 0 0 ] 56, 340
R4.10.28| 17 |BFIRT (1 O0BHXS) 7.820 100I 7, 9zo| 7.920 0 0 0 0 0 0 0
R.10.31] 18 |MEBEDRBRS LS 150, 000 50' 75, oool 0 0 0 0 0 0 0 75. 000
R4.10.31) 19 |[EEEREHE(9AM 10,0201 25 2, 507 0 0 0 0 0 0 2. 507 0
1088 592, 360 200. 140 13981 0 0 0 15,045] 103,366 35,458 131,340
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Re.11.8] 1 |HuuR g.283) 25 2.070 2,070 0 0 0 0 0 0 of
RLALT 2 [HREBDD L2 —H(9/1~9/30) 6.400] 50 3. 204 0 0 0 0 0 0 3,204 ol
R4 11.10] 3 |BFRE¥E (11 AHRS) 8, 370 1ool 8 370' 8.370 0 0 0 0 0 0 0
R&T117] 4 [HREEFR (ML) (1 2A) 150, 000 5o| 75, oool 0 0 0 0 o]  75.000 0 0
R4.11.18] 5 |EHATLATU—Z#K10/1~10/31) 43,307 50| 21.653' 0 0 0 0 0| 21.653 0 0
R4.11.18] 6 {REEERRIR(R3. 118 ~R4.10R) 6.600] 100 6, 600 0 0 0 i} 6, 600 0 0 0
R&1118] 7 |HY UK 6.832| 25 1,708 1,708 0 0 0 0 0 0 0
R&.11.25) 8 |EIEFTUTHY —ZH. &) —2H (1188 28.930f 50| 14,465 0 0 0 0 0 0 14, 465 oI
Re.11.25) 9 |BERS(EANVTF—F - ST I 7L L) +HEAFHE 1,471 50| 735 0 0 0 0 0 0 735 0
RA.11.28] 10 |EPABREEM GRFEEHRED (1184 2,733 moH 2, mi I 0 ] 0 2,733 0 0 0
RAL.28] 11 [SEEAEEEEM (AELHRHE) (V1AM 4,000 1ool 4, oool 0 0 0 0 4,000 0 ol )|
R4.11.28] 12 | & —F v FERH (LY YRTSY) 1,980 sol 990 0 0 0 0 0 0 990 ui
RaNM28] 13 INTTaZaz=Hs—4aX (A=, £%2VUF 1A 5.148] 50 2,574 Y 0 0 0 0 0 2,574 OI
Re.11.28] 14 NITZ 74X (EHERF BIER) (10/1~10/31) 12,157) 50| 6.078 0 0 0 0 0 0 6,078 0
R4.11.28( 15 [HeHEAT ERBE(10/26~11/24) 14,812]  s0f 7, auai 0 0 0 0 0 7,406 0 0
R&.11.28] 16 [H 1) w4 7,033] 25 1, 933| 1,083 0 0 0 0 0 0 0
RANL.29] 17 |BEEERENRER AMFE 150, 000 sol 75, ouol 0 0 ] 0 0 0 0 75. 00|
R&1.30| 18 |BMFEEIWHBINE AR 102.720 5o| 51, 360 0 0 0 0 0 0 o st 360‘
R4.11.30] 19 [EHFEFEHEZ(1 0AM 9,952 25 2,488 0 0 0 0 0 0 2,488 ol
1AL 571,637 288.417 14,13 0 0 of 13.333] 104.058]  30,534] 126, 3ao|
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RE1ZE] 1 [Hwy 1261 25 |.s1a| 1,816 0 0 0 0 0 0 ol
Re.12.8] 2 |#HSHAHS 59—1!4 (10/1~10/31) 22,787 50| 11.393' 0 0 0 0 0 0 11,393 ol
Re.12.121 3 |RFFHR#E (1 1 AR 9,300 100' 9, 3oo| 9, 300 0 0 0 ] 0 0 7‘
R&12.19| 4 [Huuo 1728 25 1,932 1.932 0 0 0 0 0 0 q
Re.12.19] 5 |FEH (L) (1289 150, 000 sol 75, 000§ 0 0 0 0 0 75.000 0 q
RA12.20f & |BEEHTLATY—Z/11/1~11/30) 41,910 sol 20, 955 0 0 0 0 o 20,955 0 oI
RA.12.26| 7 |BIGAS AMPH) +HIRATFMY 1,544 5o| ™ 0 0 0 0 0 0 m —ol
RA.12.26| B |FEEHUTMU—2H. HSBU—IH (1284 28, 930 sol 14, 465 0 0 0 o} 0 0 14, 465 —ol
R4.12.26] ¢ |WEAREEEM (REMM) (1284 2,910 mol 2,910} 0 0 0 0 2,910 0 0 ol
R4.i2.26] 10 |WifAREEEH (BASRFEHEM (1284 4,150 mol 4,150 0 0 0 0 4,150 0 0 —ol
R&12.27) N | s—Fw FESEH (I Ly YR TFS L) 1,980 sol 690 0 0 0 0 0 0 930 c;l
Re.12.271 12 INTTaRa=f—Sa X (A—iL, 52T s FEY 5,148 50| 2,574 0 Y 0 0 0 0 2,574 OI
Re.12.27[ 13 INTTZ 7 1R (BFEFR T|EEMR) (10/1~10/31) 10,997 5o| 5,458 0 0 0 0 0 0 5, 498 0
R4.12.27) 14 |EFERT BRIHE(11/25~12/22) 18, 159 5ol 9,079 0 0 0 0 0 9,079 0 0
Ré.12.27( 15 |BMEENEBIERR (b 160, 000 50‘ 75, ouol 0 0 0 0 0 0 0 75. 000
Ré.12.28) 16 (REGEEARBIMA AfR 121, 080 50{ 60, 540| 0 0 o 0 0 0 0| 60,540
Re.12.28) 17 |HU Y8 7.560| 25 1, agol 1,890 0 0 0 0 0 0 ol
12894 591, 450 298, 264 14,938 0 0 0 7,060] 105,034]  35.602| 135,540
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Ro.1.4[ 1 MEFEEHE( 1A% 10,068| 25 2,517 0 0 0 0 0 0 0 2,517 0
RG.1.6| 2 HESHAOLZ—HU1/1~11/30) 13,131 50| 6. 565 0 0 0 0 0 0 0 6.565 ol
R5. 110 3 |&Fhe#(1 1 BERS) 8 850 100 B, asol 8,850 0 0 0 0 ¢ 0 0 ol
RS.1.12[ 4 |HYU it 8234 25 2, ossl 2,058 0 0 0 0 0 0 0 ol
RE.1.16] 5 |EEL+—Fi BHRE(0A~12R) 8.400[ 100 a.4oo| 0 0 0 0 0 8. 400 0 0 0
R5.1.17| 6 {Hwulit 1190 25 1.797 1,797 0 0 0 0 0 0 0 op
Re.1.18] 7 |FHAH (ML) ( 2A4) 150,000 56 75, 000f 0 0 0 0 0 0 75, 000 0 0
RE.1.18| 8 [BEMFLATU—RHE(12/1~12/31) 43,307 50 21, 653 0 0 0 0 0 0 21, 653 0 ol
RE.1.18] 9 |[{EREB4EMREES ¥ (RS 1~R5.3) 15,000 100] 15, 000] 0 15, 000 0 0 0 0 0 0 |
RS.1.25| 10 |BHEFUMY —R34, HE#HY—2H (1B 28,930 50I 14, 465 ] 0 0 0 0 0 of 14,485 0
RS.1.26| 11 \EIEMREEM (GRIFCEED (1AM 2,645 100' 2,645 0 0 0 0 0 2,645 0 0 o
RS.1.26| 12 |WEARGEEM (BREFFE (1 A5) 4,150 100 4, 150} 0 0 0 0 0 4,150 0 0 ol
RS.1.27[ 13 |f va—Fw FERBH(TLyYETF) 1,980 sol 990' 0 0 0 0 0 0 0 990 ol
R5.1.27| 14 |BIA& (MR HRAFHS 1,016 5o| 5os| 0 0 0 0 0 0 0 508 ol
R5.1.26) 15 WITaSaz=4—i 32X (A—L, £F2UF s HEAH 5,148 50I 2.574' 0 0 0 0 0 0 0 2,514 0
RE.1.260 16 INTTD 7+ (BB BEER) (12/1~12/31) 10,818 5o| .S 409! 0 0 0 0 0 0 0 5. 409 0
RS.1.26) 17 [HEEFR WRER(12/23~1/28) 22,341 50 11,170 0 0 0 0 ] 0 11,179 0 |
RG.1.30 18 |EEEiEERBNERA A## 107.160] 50|  53.580 0 0 0 0 0 0 0 0 53, 580}
RS.1.31| 19 |BELEEABEIR AR 150,000] 50 75,000 0 0 0 0 0 o 0 0 75. 000§
RE.1.31} 20 |WEEEME(12AM 10,381 25 2,595 0 0 0 0 0 0 0 2,595 oI
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R5.2.3] 1 |HvYULR .731] 2% 1,932 1.932 0 0 0 0 0 0 of

R5.2.6] 2 |HESHAY2—3(12/1~12/31) 17.023L 50| 8. 514I 0 0 ] 0 o ] 8.514 ol
R6.2.15] 3 |B TR (2 AEKRS) 4,200 wo’ 4, 200| 4,200 0 0 0 0 0 0 ol
RE.2.21] 4 |BERFLNATU—ZXR1/1~1/31) 43,3070 50 21.653| 0 0 ¢ 0 0 21, 653 0 0
R5.2.22) 5 |HEEERT (it (3 A 150, 000/ 50 75, oool 0 0 ) 0 0 75, 000 0 of
R5.2.25] 6 [Hw1 it 7.736] 25 1. 934' 1,034 0 0 0 0 o 0 0
RS.2.27| 7 [HIEPRUTMY — . #HESMY—2H (2 B4 28.020] 50 14, 465 0 0 0 ] 0 0 14, 465 of
R5.2.27| 8 |¥TMIREERM (RETFHD (2B 2,782 tool 2,782 0 0 0 0 2.782 0 0 o]
RE.2.27| 9 [#TMIEEERM (BXEFHE) (2AM 4.150) 100 4, 150l 0 0 0 0 4,150 0 0 0
RE.2.27 10 A& —w FERH(FLyYRTSL) 1,980 50 ggul 0 0 0 i 0 0 990 0
RE.2.27] 11 INTTa2azsy—LavX(A—i. £52 U5+ HEH 5.148] 50 2, 574I 0 0 0 ¢ 0 0 2.574 0
RS.2.27) 12 INTT2 71+ R (EHH FTEMR (1/1~1/31) 12,6411 50 6. 320I 0 0 0 0 0 0 6.320 0
RS.2.27| 13 |Z:FEPF BERER (1/26~2/23) 10,879 50 9, 939! 0 0 0 o 0 9,939 0 0
RS.2.27| 14 |BISTEHHHBHERE Afi: 103,680y 50 51, aaol 0 0 0 0 0 0 0 51,840
R5.2.28 15 |MESEBNMHBINEE AME 150.000f 0] 75, oo_o' _ 0 0 0 0 0 0 o 7 oool.
RG. 2. 2sL 16 EHBBEEEE(1BM 9.998| 25 2,499 0 0 0 0 0 0 2. 499 oI
2R 569, 190 283, 792 8,086 0 0 0 6.932] 106,592 35,362] 126, 340'
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R5.3.6] 1 [¥EEWADI2—HU/1~1/31) 15.338| 50 7.669] 0 0 0 0 0 0 0 0 7.669 ]|

RE.3.11] 2 [|HvY i 7.968] 25 1.992 1,992 0 0 0 ] 0 o 0 0 ol
R5.3.10| 3 |BITRE(SAERD) 7.480] 100 7. 440I 7,440 0 0 0 i} 0 0 0 0 ol
RG.3.19] 4 |EBEIHERTLATY—ZH(2/1~2/28) 39, 116 50 19, 558I 0 0 0 0 0 0 0 19. 558 0 0
RE.2.22| 5 |HFEER (%) (4 B 145.000] 50 72. 5oo| 0 0 0 0 0 0 0 72.500 0 0
R5.3.25| 6 |HHAr EIRHE(2/24~3/22) 18.639] 50 9.319 0 0 0 0 0 0 0 9,319 0 0
R5.3.25] 7 INTTazaz=4H—2a X (A=, €52 Y T« HEL 5. 148 501 2,574 0 0 ] 0 0 0 0 0 2,574 0
R5.3.25) B NTTZ 74+ X (BHMR EIER) (2/1~2/28) 11,208] 50 5, 603 0 0 0 0 0 0 0 0 5. §03 | |
RS.3.271 9 |FEAUTHY —Z¥ . HSHU—2H (384 28.930) 5Ol  14.465 0 0 0 0 0 0 i} 0 14. 465 of
R5.3.27| 10 (&FBARAEESS (BEscHBA) (3 A4 2,910] 100] 2,910} 0 0 0 0 0 0 2. 910 0 0 or
R5.3.27] 11 |&TEEEEEH (BEBFHE) (3 A4S 4,150 wol 4.150] 0 0 0 0 0| 0 4 150 0 0 ol
RG.3.27) 12 | 3 —3 v FEEH(TLuyxTIL) 1,980 sol 990I 0 0 0 0 0 0 0 0 950 oI
R5.3.28] 13 [t 8.400] 25 2, mol 2,100 0 0 0 0 0 0 0 0 ol
R5.3.29| 14 |EBHERHRMNAE, 2V o 7208 HEATF 2,088 50 1. 044| 0 0 0 0 ) 0 0 0 1,044 0
RS.3.31| 15 |MISEMMBRE AGK 183.720, 50 9%, geol 0 0 0 0 0 0 0 ] 0 91, 860
R5.3.31| 16 |BIFEIMHBRRE A#HE 150.000] 50 75. ooo' 0 0 o ] 0 ) 0 0 ¢ 75. 000
R5.3.31] 17 |EEFEEHE(2849) 10. 081 25 2,520 0 0 ¢ ) 0 0 ¢ 0 2,520 ol
/Y 642,115 321,694 11.532 0 0 0 0 0 7.060] 101,377 34.865| 166, 860]
nHt 8.583. 247 4,084.338] 141.442| 243,220 o] 1.101.740 0 0| 179.315| 1.261.900] 406,259 1,550, 462




